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4. The equation C = 30n + 100 represents the cost, C dollars, for a membership at a local
gym, where n is the number of months.

a) Describe the function. b) Determine the value of C(12).
~ Write \w:m equation in function notation. What does this number represent?
Cn)=30N—+{00 ‘ (12D =20012)+100
™me cost 1S ¥F30/montia + C = £4L0
O~ S g, %« (DO, The cost for lyear.

c) Determine the value of n when C(n) = 340. What does this number represent?
310 =20M+100 e cost Fov 8 ol
280 =30 : _,
1S 240,
i =8 ¢

5. The graph below shows the outside temperature over a 24-hour period.

Outside Temperature
over a 24-h Period

a) What was the highest temperature of the day?
When did it occur?

HIH  ~22°¢ of 19:00 (3pm )
b) What was the temperature at 9 pm (21:00) ?
~ L PC

06:00 18100 c) At what 2 times during the day was the temperature
Time (24-h-cloc the same?

09:00 and I80O
Qo) (6pm )

6. The graph below shows Bob’s distance from home during a trip to a local store. Describe
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7. Foreach graph below

a) State whether each graph represents a function. Explain your reasoning.
b) State the domain and range of the function.

Ages and Heights of People

380 b Function? ZO é.,.m y ; Function? /\ %v
m_ 150 T 4 |
£ 100{ 8§ NENENEE Explanation: , 3 y = () Explanation: | .W Q S8
O 4 & [ 12 1620 45 H\EO 1 %«/b\ L\mJi}\
Age (years)
_ 20| 1

Domain: —

Domain: MO\ N.W\.,O\Lcﬁ ,@\w 7_6
Range: w mu.Op ~OO\._ \M.w.‘_ _w_nv.ﬂx i mu.\d.w Range:




